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113 + 335 = 

A) 447

B) 448

C) 148

D) None of the above

Which of the following has the greatest 
value?

A) 521.887044

B) 521.887091

C) A and B are equal.

What should replace the _____ to make the 
following sentence true?

5 x 9 = 62 _____ 17

A) x

B) -

C) +

How many yards in 540 inches?

A) 25 yards

B) 4 yards

C) 15 yards

D) 20 yards

Which answer has the greatest unit size?

A) 521 tons

B) 4603 lb

C) A and B are equal.

What number is one ten thousand less than 
59,624?

A) 49624

B) 59724

C) 59524
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How many tens are in the 
number 30?

How many total legs are on 
5 dogs and 3 ants? 110,  ,   130,  140,  

150,  160,  170

10 x  = 80 =  x 4

7 x  = 84 =  x 42

10 x  = 70 =  x 5

4 x  = 28 =  x 14

10 x  = 20 =  x 5

Holly bought a stuffed 
animal at the school store.  
She paid with a $20 bill.  
She was given back 4 
dimes and 3 quarters for 
change.  How much was 
the stuffed animal?

2 + 10 x 10 x 11

The radius of a circle is 317 
cm.  What is the diameter 
of this circle?

How much money is 1 
quarter, 1 dime, 1 nickel, and 
3 pennies?

Estimate quickly the 
difference.
7,780 - 2,490

68,  82,  96,  110,  

,   138

How many minutes is it 
from 9:00 a.m. to 10:50 
a.m.?

How many centimeters in 
470.8 meters?

A toy car can go 3 mph.  
How long would it take to 
go 9 miles?

How many centimeters in 
5.8 meters? 7  ÷ 1

4
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

9 - 3 + 20 ÷ 4 + 63 ÷ 7 = 12 + 5 - 11 = 

7 + 4 + 18 ÷ 9 x 5 - 5 = 8 x (1 + 12) = 

4 + 2 - 3 = 1 + (7 x 12) = 

8 x  2 x  (1 x  8) -  5 -  3 = 10 x 10 x 3 = 

2 + 9 - 9 = 10 x 10 - 6 = 

4 x  (4 +  5) x  5 -  6 -  4 = 4 - 1 + 11 = 

4 - 2 + 3 = 6 + 8 + 8 = 

4 x 2 x 3 + 28 ÷ 4 + 9 = 1 + 4 + (9 x 11) = 

9 +  1 x  (1 +  16 ÷  4) x  2 = 5 - 4 + 10 = 

(1 x  1) x  3 +  1 = 1 + (12 - 6) = 1 x 9 + 5 + 1 = 

2 x 6 - 8 = 1 x 4 x 1 + 9 + 6 x 9 = 12 + 1 + 7 = 

5 x 8 - 2 = 7 - 3 + 12 = 

6 +  (6 ÷  2 +  6) -  7 +  1 = 9 + (12 x 3) = 
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On Pick Up Some Litter Day, 
4
5

 of the fifth grade 

students helped clean up 

the playground. Of the 

students who helped, 2
3

 

worked for more than an 

hour. What part of the fifth 

grade students worked for 

more than an hour?

There were five cups of 
food for the geese. Mr. 
Garcia added more 
cups of food. Now there 
are twelve cups of food 
for the geese. Write an 
equation to represent 
this.

Connor decided to 
write a letter to his 
favorite uncle on Blah 
Buster Day. He wrote 
the letter on his 
computer and printed it 
on bright blue paper. It 
took him 25 minutes to 
write the letter. If he 
started writing it at 1:45 
p.m., what time did he 
finish the letter?

A 12 cm x 12 cm x 12 cube was made by Kevin.  He 
used centimeter blocks.  How many blocks did he 
use?

35 ÷ 5 = 2 8 8
+ 3 2 9

23 kg = g
Anne wrote down a fraction on a 
piece of paper.  If you take her 
fraction and multiply it by four 
you get eleven.  Can you guess 
what her fraction is?

11 x 10 = 

8 7
- 5 9
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Sudoku Sums of 9
Each row, column, and box must have the numbers 1 through 6.
Hint: Look for sudoku sums.  The sum of the two boxes inside of 
the dashed lines is 9.

Here is an example of a sudoku sum of 9: 3 6

6

4 1 2

4 6 5

3

4 6 1

2 1
+ 3 9

Holly invented a robot.  The robot's name 
is Max.  Max can go a maximum speed of 
5 mph.  At that rate, how long would it 
take Max to go 6 miles?

Write this as a number in standard form.  
Use a comma in your number.

five hundred thirty thousand nine hundred 
eleven

How many grams are in 4 kilograms?

 grams
8 x 10 = 
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Write the missing family fact.

56 - 12 = 44
12 + 44 = 56
44 + 12 = 56

1 lb = 16 oz

18 lb = oz

Write a letter that has a line 
of symmetry.

Can 986 be evenly divided by 11? Circle:
986 is evenly divisible by 11
986 is NOT evenly divisible by 11

2 7 9
- 2 1 6

The circus is in town!  Tickets are only $4 for kids. 
Adults need to pay double the price of kids 
tickets.  Amy is bringing two of her friends in her 
class.  Her mom is also coming.  Amy wants to 
pay for everyone. How much will she need to 
pay?

David invented a robotic bug.  The bug 
can crawl six centimeters in twenty-two 
seconds.  How long would it take the bug 
to crawl forty-two centimeters?

386
 0.6x

 29
 0.5x
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1 0 5 ÷ 6 0 2 ÷ 3 7 0 ÷ 4 = 0 2
6 = 9 1

Use the pieces above to help you fill in the runaway math puzzle.

Can 616 be evenly divided by 8? Circle:
616 is evenly divisible by 8
616 is NOT evenly divisible by 8

Hannah will win if a random 
number pulled out of a box is an 
even number.  28 pieces of paper,
numbered 1 to 28, are put inside a 
box.  What is the chance that 
Hannah will win?

Write an equation to represent this:

The product of twelve and four is 
forty-eight.

3 ÷ 5 = 6 9 x 5 = 4

1 6

÷ 2 = 3 x = 0

= 1 1 8

9 x = 2 ÷ =

÷ 4 3 7

9 3

x = 7

6 1 8 ÷ 3 =

÷ 2

5 8

4 ÷ 7 = 7
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David, Ethan, and John each ate something different for breakfast. One had waffles, one 
had pancakes, and one had sausages for breakfast.

What did each person have for breakfast?

1. David did not have sausages or pancakes for breakfast.

2. Only John and David like meat for breakfast.

David had  for breakfast.

Ethan had  for breakfast.

John had  for breakfast.

Can 582 be evenly divided by 6? Circle:
582 is NOT evenly divisible by 6
582 is evenly divisible by 6

Can 286 be evenly divided by 3? Circle:
286 is evenly divisible by 3
286 is NOT evenly divisible by 3

Eight kids and three adults are going to the 
circus.  Kid's tickets are on sale for only half the 
price of adult tickets.  The total cost is $80.  How 
much is one kids ticket?  How much is one adult 
ticket?

12 x 11 = 

For 2,194,189,583,403,783, write 
the digit that is in the hundred 
thousands place.

word root demo can mean people democracy, demography

Cross out the word that is not a relative 
adverb.

why, how, when, and
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7 4 . 2 5 5 . 0 6 6 . 6

9 2 1 . 6 4 0 . 3 6 10 1 . 9

4 8 . 8 4 9 5 1 . 6

4 + (11 - 4) Round 17,409 to the nearest 
thousand. 9 3

9
 + 5 1

9
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Anne is playing a game with Emma.  Together they have 1,326 points and need to get 322 

more points to win.  Emma has 5 1
2

 times as many points as Anne.  How many individual 

points does Emma have?

The sum of two consecutive numbers is 255.  What are the two numbers?
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19  -  6
11

 - 1
2

 = 3  +  4
5

 - 1
2

 = 9  +  1
4

 + 1
4

 =

Reduce 48
54

 to its lowest 

terms.

Reduce 4
32

 to its lowest 

terms.

47 - 1
4

 =

14 4
5

3-

4 1
5

6 1
6+

2 1
2

1
3-

Find the product of 994 
and 4. 2 5 1 1,

x 5
2 2

x 1 9
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36 1 6 2 0 9 3 7 8 40 8 0 15 1 8 0

40 9 6 0 5 4 0 16 6 7 2 40 9 6 0

Change to a fraction.
66%

Write the ratio as a fraction.
7 to 6

Write the ratio as a fraction.
6 to 2

It was 5 degrees below 
zero in the morning.  By 
afternoon the temperature 
rose 19 degrees.  How 
warm was it?

A,  E,  I,  M,  ,   U,  Y
A toy car can go 5 mph.  
How long would it take to 
go 18 miles?

What is the area of a 
rectangle with sides 4 cm 
and 12 cm?

5 6
7

 + 4 1
7

How many centimeters in 
980.5 meters?
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What's in the Box?
Read the words on the left then match the letters with the correct synonyms in the clues.
Put the clues together and solve the mystery of what is in the box.

A =impartial

C =flimsy

E =migrant

H =gauge

I =chilly

K =shred

M =cracker

N =tart

O =nestle

P =dictator

Q =rotate

R =brittle

S =victim

T =abolish

U =survey

Clue 1: circle

q
poll

u
cold weak scrap

Clue 2: wafer neutral weak scale cold tangy drifter

Clue 3: cold tangy tyrant poll ban

Clue 4: prey weak stiff drifter drifter tangy

Clue 5: drifter circle poll neutral ban cold cuddle tangy

What's in the Box?

Circle the greatest number:
91,637

4,285,047
652,387,094,121

58,193,602

Sarah multiplied two one-digit 
numbers and then added 182.  
The result was 218.  Wendy does 
not believe her and thinks Sarah 
made a mistake.  Who is correct?

110 ÷ 11 = 
Circle the addition property 
for 45 + 20 = 20 + 45.

associative property
commutative property

word root arium can mean place where aquarium

What time is 14 hours after 
4:00 p.m.?
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